
Pelda1: HEredmenyek-1 

Egyedtipusok 

Hallgato (lekkekonyv[ch-8] (Hallgatóazon), Nev-M[ch-25], Vezeteknev-M[ch-25], Szul_datum[date], 

Szul_hely[ch-30]) 

Targy (Targy-az[ch-5] (Tárgyazon), Targynev-M[ch-20],heti_oraszam-M[n-2]) 

Oszatlyzat (Osztalyzat_az[i] (Osztályzatazon), jegy-M[n-2], vizsga_idopont-M[date&time]) 

Kapcsolattipusok 

Vizsgazik (Hallgato:Osztalyzat, (0,N) : (1-mandatory,1)) 

Targy_osztalyzata (Targy:Osztalyzat, (0:N) : (1-mandatory, 1)) 

 

Pelda2: HEredmenyek-2 

Egyedtipusok 

Hallgato (lekkekonyv[ch-8], Nev-M[ch-25], Vezeteknev-M[ch-25], Szul_datum[date], Szul_hely[ch-30]) 

Targy (Targy-az[ch-5], Targynev-M[ch-20],heti_oraszam-M[n-2]) 

Oszatlyzat (Osztalyzat_az[i], jegy-M[n-2], vizsga_idopont-M[date&time]) 

Kapcsolattipusok 

Vizsgazik (Hallgato:Osztalyzat, (0,N) : (1-dependent,1)) 

Targy_osztalyzata (Targy:Osztalyzat, (0:N) : (1-dependent, 1)) 

 


